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REFER TO FABRICATION SPECIFICATION C-SUPSTF-|
FOR INSTRUCTIONS.
| T AE
VGT[  DISCONTINUE FILLET TAPER REAM FOR | . MEASURE THE CIRCUMFERENCE OF THE TUBE WHERE THE
- EJ%II_FDFEK}{II-%%REC - =T NO. 7 TAPER DOWEL STIFFENER SUPPORT WILL BE PLACED.
ol HOLE TYPE “A CALCULATE THE OD OF THE TUBE.
c STACK DRILL AND [#] 6 .030]a]s]

2. MACHINE THE SUPPORT RING ID TO MATCH THE OD OF THE
TUBE WHERE IT WILL BE ATTACHED WITH A TOLERANCE ON
THE RING [D OF +0.050/-0.000
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2 mm (1/16")
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Tr (0.5 3-8 3. REMOVE BOLTS ONLY TO INSTALL. FIT SUPPORT AROUND BEAM -
J 3 \ -0.0m TUBE» USING A ND. 7 DOWEL PIN TO LOCATE THE HOLE CENTERS
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o= - % AFTER VELDING.
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